JL_

Subtracting Decimals

Name:

Solve each problem.

1) 71.9-39.49=

2) 86.8+7.811=

3) 62.1+39.56=

4) 23.07+6.129=

5 89.7-08=

6) 59.302-51.1=

7) 69.5-46.1=

8) 21.82+14.71=

9) 13.142+5.136 =

10) 37.785+ 21.07 =

11) 23.906 + 22.640 =

12) 4575-7.8=

Answers

10.

11

12.
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Subtracting Decimals Name: Answer Key
Solve each problem. Answers
1) 71.9-39.49= 32.41
1 3241
2, 04.611
2) 868+7.811= 94611
3 101.66
3) 621+3956= 10166 4 29.199
5 88.9
4) 2307+6.129=  29.199
6. 8.202
7 234
5) 89.7-0.8= 88.9
8. 36.53
6) 59.302-51.1=  8.202 9 18.278
10 58.855
7) 69.5-46.1= 23.4
11 46.546
12 37.95
8 21.82+1471= 3653
9) 13.142+5.136=  18.278
10) 37.785+21.07= 58.855
11) 23.906+22.640=  46.546
12) 4575-78=  37.95
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Subtracting Decimals

Name:

Solve each problem.

Answers

94.611 18.278
23.4 88.9
58.855 101.66

29.199
8.202

36.53
32.41 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

71.9-39.49 =

86.8+7.811 =

62.1 + 39.56 =

23.07+6.129 =

89.7-0.8=

59.302-51.1=

69.5-46.1=

21.82+14.71 =

13.142 + 5.136 =

37.785+ 21.07 =

10.

C
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JL_

Subtracting Decimals

Name:

Solve each problem.

1) 90.775-21.223=

2) 48.16+12.3=

3) 28.034+16.3=

4) 47.3-33.070=

5 87.5-78.18=

6) 30.95+ 14.797 =

7) 46.23+29.61=

8 259-1813=

9 60.4+10.52=

10) 39.30+ 0.46 =

11) 34.157-30.1=

12) 29.08-19.9=

Answers

10.

11

12.
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Subtracting Decimals Name: Answer Key
Solve each problem. Answers
1) 90.775-21.223=  69.552
1 69.552
2, 60.46
2) 4816+123=  60.46
3, 44.334
3) 28.034+16.3= 44.334 4 14.23
5 0.32
4) 47.3-33.070= 14.23
el e — 6. 45.747
7 75.84
5) 87.5-78.18= 9.32
8. 24.087
6) 30.95+14.797=  45.747 9 70.92
10, 39.76
7) 4623+2961= 7584
11. 4.057
12 0.18
8 259-1813=  24.087
9 60.4+1052=  70.92
10) 39.30+ 0.46 = 39.76
11) 34.157-301=  4.057
12) 29.08-19.9= 0.18
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Subtracting Decimals Name:
Solve each problem. Answers
70.92 75.84 45.747 39.76
9.32 24.087 14.23 44.334 1.
60.46 69.552

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

90.775-21.223 =

48.16 + 12.3 =

28.034 + 16.3 =

47.3-33.070=

87.5-78.18=

30.95 + 14.797 =

46.23 + 29.61 =

259-1.813=

60.4 + 10.52 =

39.30+0.46 =

10.

C
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Subtracting Decimals

Name:

Solve each problem.

1) 41.6-4042=

2) 47.707 - 46.65 =

3) 72.806+1.2=

4) 929+879=

5) 69.77-34.38=

6) 8.7+ 0.899 =

7) 35.210 +22.42 =

8) 21.41-20.17=

9) 148-3416=

10) 23.77-0.866 =

11) 10.65 + 4.994 =

12) 17.119+3.6=

Answers

10.

11

12.
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ﬂh Subtracting Decimals

Name: Answer Key
Solve each problem. Answers
1) 41.6-40.42= 1.18
1 1.18
2, 1.057
2) 47.707 - 46.65 = 1.057
3 74.006
3) 72806+12=  74.006 4 180.8
5. 35.39
4) 929+87.9= 180.8
6. 0.599
7. 57.63
5) 69.77 - 34.38 = 35.39
8 1.24
6) 87+0.899=  9.599 9 11.384
10, 22.904
7) 35210+2242=  57.63
11. 15.644
1o 20.719
8) 21.41-20.17= 1.24
9 148-3416= 11.384
10) 23.77-0.866=  22.904
11) 1065+4.994= 15644
12) 17.119+36= 20.719
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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Subtracting Decimals

Name:

Solve each problem.

Answers

74.006 11.384
35.39 1.24
57.63 9.599

1.057
1.18

22.904
180.8 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

41.6-4042 =

47.707 - 46.65 =

72806 +1.2=

929+879=

69.77 - 34.38 =

8.7+ 0.899 =

35.210 + 22.42 =

21.41-20.17=

14.8 - 3.416 =

23.77- 0.866 =

10.

C

Modified
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Subtracting Decimals

Name:

Solve each problem.

1) 53.3-24.82=

2) 935+33.21=

3) 85.420-32.28=

4) 3645+ 18.7=

5) 496+ 22.114 =

6) 35.533-23.925=

7) 2595+ 7.4=

8) 85.972-786=

9) 10.350-9.60=

10) 80.3+53.9=

11) 74.02-9.619=

12) 88.25- 15.663 =

Answers

10.

11

12.
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Subtracting Decimals Name: Answer Key
Solve each problem. Answers
1) 53.3-24.82= 28.48
1 28.48
2, 126.71
2) 935+3321= 12671
3, 53.14
3) 85.420-32.28= 53.14 4 55.15
5 71.714
4) 3645+187=  55.15
6. 11.608
7. 33.35
5 496+22114= 71714
8, 7.372
6) 35.533-23925=  11.608 0. 0.75
10, 134.2
7) 2595+7.4=  33.35
11 64.401
1o (2587
8) 85972-786=  7.372
9) 10.350-9.60= 0.75
10) 80.3+53.9= 134.2
11) 74.02-9.619=  64.401
12) 88.25-15.663=  72.587
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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Subtracting Decimals

Name:

Solve each problem.

Answers

71.714 33.35
53.14 126.71
134.2 28.48

7.372
55.15

11.608
0.75 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

53.3-24.82=

935+3321=

85.420 - 32.28 =

36.45+ 18.7 =

49.6 + 22.114 =

35.533-23.925 =

2595+ 74=

85.972-78.6 =

10.350 - 9.60 =

80.3+53.9=

10.

C

Modified
Math ] www.CommonCoreSheets.com
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Subtracting Decimals

Name:

Solve each problem.

1) 18.651 + 14.26 =

2) 662+41.7=

3) 27.265-4.102 =

4) 705+ 484=

5) 47.7-23.084=

6) 59.47 - 45.4 =

7) 435-25=

8) 13.03-10.989 =

9) 585-11.79=

10) 17.871+7.3=

11) 47.94+37.117 =

12) 94.35+9.36=

Answers

10.

11

12.
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ﬂh Subtracting Decimals

Name: Answer Key
Solve each problem. Answers
1) 18651 +14.26= 32911
1 32.911
2, 107.9
2) 66.2+41.7= 107.9
3 23.163
3) 27.265-4.102=  23.163 4 118.9
5, 24.616
4) 705+484= 1189
6. 14.07
7 1.85
5) 47.7-23.084= 24616
8. 2.041
6) 59.47-45.4= 14.07 9 46.71
10 25.171
7) 435-25= 1.85
11 85.057
12 103.71
8) 13.03-10.989= 2041
9) 585-11.79=  46.71
10) 17.871+7.3= 25171
11) 47.94+37.117=  85.057
12) 9435+936=  103.71
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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Subtracting Decimals

Name:

Solve each problem.

Answers

25.171 24.616
2.041 1.85
118.9 23.163

107.9
14.07

46.71
32.911 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

18.651 + 14.26 =

66.2 +41.7 =

27.265-4.102 =

70.5+484 =

47.7 - 23.084 =

59.47-454 =

4.35-25=

13.03 - 10.989 =

58.5-11.79=

17.871+ 7.3 =

10.

C

Modified
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Subtracting Decimals

Name:

Solve each problem.

1) 60.22-2257=

2) 33.827+5.670=

3) 434-16.7=

4) 3.699-0.377=

5 48290+ 95=

6) 47.8+32.328=

7) 72.78-41.7=

8) 57.305+ 17.61 =

9) 47.754-126=

10) 27.8 + 14.595 =

11) 57.7+7.61=

12) 66.22 + 23.967 =

Answers

10.

11

12.
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ﬂh Subtracting Decimals

Name: Answer Key
Solve each problem. Answers
1) 60.22-2257= 37.65
1. 37.65
2, 39.497
2) 33.827+5670=  39.497
3 26.7
3) 434-16.7= 26.7 4 3.322
5, 57.79
4) 3.699-0.377= 3.322
- 6. 80.128
7. 31.08
5) 48.290 +9.5= 57.79
8, 74.915
6) 47.8+32.328=  80.128 9 35.154
10, 42.395
7) 7278-41.7=  31.08
11. 65.31
12 90.187
8) 57.305+17.61= 74915
9) 47.754-126=  35.154
10) 27.8+14.595=  42.395
11) 57.7+761= 6531
12) 66.22+23.967=  90.187
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Subtracting Decimals

Name:

Solve each problem.

Answers

42.395 26.7
39.497 31.08
74.915 35.154

37.65
80.128

3.322
57.79 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

60.22 - 22.57 =

33.827 +5.670 =

43.4-16.7 =

3.699 - 0.377 =

48.290+ 9.5 =

47.8+32.328 =

72.78-41.7 =

57.305+17.61=

47.754-12.6 =

27.8+ 14595 =

10.

C

Modified
Math ] www.CommonCoreSheets.com
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Subtracting Decimals

Name:

Solve each problem.

1) 61.2+11.677=

2) 14.8-0.957=

3) 1341-9.18=

4) 99.447 + 1552 =

5 61.92+41.12=

6) 26.328+11.3=

7) 2.87-09=

8) 97.2+81.82=

9) 83.140-42.984 =

10) 71.8+439=

11) 32.65-23.87=

12) 78.84+65.8=

Answers

10.

11

12.

[ M ath ] www.CommonCoreSheets.com
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ﬂh Subtracting Decimals

Name: Answer Key
Solve each problem. Answers
1) 612+11.677=  72.877
1 72.877
2, 13.843
2) 148-0957=  13.843
3 4.23
3) 13.41-9.18= 4.23 4 114.967
5, 103.04
4) 99447 +1552=  114.967
6. 37.628
7 1.97
5 61.92+41.12= 103.04
8, 179.02
6) 26.328+11.3=  37.628 9 40.156
10. 115.7
7) 2.87-09= 1.97
11. 8.78
12 144.64
8 972+81.82=  179.02
9) 83.140-42984=  40.156
10) 71.8+439= 115.7
11) 32.65-23.87= 8.78
12) 78.84+658=  144.64
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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Subtracting Decimals

Name:

Solve each problem.

Answers

1.97 115.7
103.04 179.02
40.156 72.877

13.843
114.967

4.23
37.628 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

61.2 + 11.677 =

14.8-0.957 =

1341-9.18=

99.447 + 1552 =

61.92+41.12 =

26.328 +11.3=

287-09=

97.2+81.82=

83.140 - 42.984 =

71.8+43.9=

10.

C

Modified
Math ] www.CommonCoreSheets.com
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Subtracting Decimals

Name:

Solve each problem.

1) 42.614-38.618=

2) 20.41-15.097 =

3) 47.835-12.29=

4) 774-39=

5) 42.804 + 23.805 =

6) 48.179+19.34 =

7) 57.8+23.70=

8) 46.90+311=

9) 70.920-16.3=

10) 57.7+17.46 =

11) 60.2-16.88=

12) 91.69+67.1=

Answers

10.

11

12.
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Subtracting Decimals Name: Answer Key
Solve each problem. Answers
1) 42.614-38.618= 3.996
1. 3.996
2, 5.313
2) 20.41-15.097=  5.313
3 35.545
3) 47.835-1229= 35545 4 73.5
5. 66.609
4) 774-39= 735
6. 67.519
7 81.5
5) 42.804+23.805=  66.609
8 78
6) 48.179+19.34= 67.519 9 54.62
10. 75.16
7) 57.8+23.70= 815
11. 43.32
12 158.79
8) 46.90+311= 78
9) 70.920-163=  54.62
10) 57.7+17.46=  75.16
11) 60.2-16.88=  43.32
12) 91.69+67.1= 158.79
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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Subtracting Decimals Name:
Solve each problem. Answers
5.313 35.545 81.5 78
3.996 66.609 73.5 54.62 1
67.519 75.16

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

42.614 - 38.618 =

20.41 - 15.097 =

47.835-12.29 =

774-39=

42.804 + 23.805 =

48.179 + 19.34 =

57.8+23.70=

4690+ 31.1=

70.920-16.3 =

57.7+17.46 =

10.

C

Modified
Math ] www.CommonCoreSheets.com
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Subtracting Decimals

Name:

Solve each problem.

1) 34.048-29.92 =

2) 593+ 18=

3) 7410+ 31.28=

4) 28.6-22.794=

5) 83.37-232=

6) 61.041-50.8=

7) 27.31-258=

8) 73.64 +45.868 =

9) 5.687+3.99=

10) 83.7 + 34.922 =

11) 54.452-48.8 =

12) 61.6+24.52=

Answers

10.

11

12.

[ M ath ] www.CommonCoreSheets.com
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ﬂh Subtracting Decimals Name: Answer Key

Solve each problem. Answers
1) 34.048-2992=  4.128
1 4,128
2 61.1
2) 593+ 18= 61.1
3 105.38
3) 7410+31.28= 105.38 4 5.806
5. 60.17
4) 286-22794= 5806
6. 10.241
7 1.51
5) 83.37-232= 60.17
8 119.508
6) 61.041-50.8= 10.241 9 9.677
100 118.622
7) 27.31-258= 151
11. 5.652
12 86.12
8) 7364+45868= 119.508
9) 5687+3.99= 9677
10) 83.7+34.922= 118.622
11) 54.452-488= 5652
12) 61.6+2452=  86.12
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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Subtracting Decimals

Name:

Solve each problem.

Answers

119.508 105.38
60.17 1.51
4.128 5.806

10.241
9.677

61.1
118.622 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

34.048 - 29.92 =

59.3+18=

7410+ 31.28 =

28.6-22.794 =

83.37-232=

61.041-50.8=

27.31-258=

73.64 + 45.868 =

5.687 + 3.99 =

83.7 +34.922 =

10.

C

Modified
Math ] www.CommonCoreSheets.com
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Subtracting Decimals

Name:

Solve each problem.

1) 63.3-25.222=

2) 62.1-196=

3) 49.6+27.164=

4) 975-306=

5) 8.4+5477=

6) 2.65+1.48=

7) 75.439+13.87 =

8) 99.35+ 73.27 =

9) 90.126-50.5=

10) 1.89-0.454=

11) 29.12+5.7=

12) 61.308-46.31 =

Answers

10.

11

12.

[ M ath ] www.CommonCoreSheets.com
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Subtracting Decimals Name: Answer Key
Solve each problem. Answers
1) 63.3-25222=  38.078
1 38.078
5 42.5
2) 62.1-196= 425
3, 76.764
3) 496+27.164= 76.764 4 66.9
5, 13.877
4) 975-30.6= 66.9
6. 413
7. 89.309
5 84+5477=  13.877
8 172.62
6) 2.65+1.48= 4.13 9 39.626
10. 1.436
7) 75439+13.87=  89.309
11. 34.82
12 14.998
8) 99.35+7327= 17262
9) 90.126-505=  39.626
10) 1.89-0454=  1.436
11) 29.12+57=  34.82
12) 61.308-46.31=  14.998
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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Subtracting Decimals

Name:

Solve each problem.

Answers

89.309 39.626
4.13 76.764
66.9 1.436

38.078
13.877

172.62
42.5 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

63.3-25.222 =

62.1-19.6=

49.6 + 27.164 =

97.5-30.6=

84+5477=

265+ 148=

75.439 + 13.87 =

99.35+ 73.27 =

90.126 - 50.5 =

1.89-0.454 =

10.

C

Modified
Math ] www.CommonCoreSheets.com
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